gboogoboob200100000

Q11b Chandral 000000000 GOS7T—0.01000000DODODOOO

o000 OO0ODODO ODOOOOO ODOODOO OO (CoD)

goboooboonooooooo Xooooooooooooooooobooooooooooboboooo
D000 10keVODODOOODOODODODOODOOOOOOOO 10%erg0000000000000000000
ooooboooboooouobbooooboooyoooooooobooo Xoooooopooooooo
gbooobooboooboobooobooobooooboobooobooooboooboobobooboobooonoo
OSegrB2000000 XOOO GO.57—0. 010000

Goh7—001000D00DOO0DOOODOOOUODOOOODOOODODOODOODOUDOUODODOOD
00000000000000000000000000 (00O ~0500)000000000000000
G0.57—0.010000 2000000000000 DOO0OOOODDODOOX0DO0O0O0O00OD ~keVvOOOODOOO
goobboooooooobob kevVODOOOODOOOOODOOODODODOOODODOOODOOODDOO ~6.5keV
0000000000000 000000000000000000D00O0O0000000O00D0 6.7keV(He-like)
0000 6.97keV(H-like) 000000000000 0000000O0OO0OO0OO (NE)OOODOOOD fitting
oobooooboobooboobbooboboooNEIDDOODO0ODOODLOOO0DO0D0D <100year 0 O O
Oo0o0o0o0oo0oooOo Ggos7—00100000000O0O00DOO0ODOO00ODOOO0ODOOODOOODOOODOOD
OO0 SNI9g7ADOO00DOOO0O00O0ODODOO00O0000o0oOoOo0ooooDOoOoOO0obOOoooDooDOoooon
gbooboboobuoobboobuooboobbooboaboo

000000000 OD0DO0O0DO0O0D0D0O Gos7—0.0100000000OCO0OODOOOOODOOODOOOD
goboobobobooobobooXoboobobooooooboobooo Xgbooooooooobooo
gboogobooboobbooboobbooboobboobooobbon



